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GROUP I MAIN – 2023 

 

COMPOUND INTEREST WORK SHEET  
$l;L tl;b 

 

1. When the interest is paid on its principal only, it is called the simple interest 
but if the interest is paid on the principal as well as the accrued interest, it is 
called compound interest.  

When the interest is compound annually,  

Amount: 1
100

n
R

A P
 

= + 
 

 

P: Principal 
R: rate of Interest 
n: No. of years 
 

Compound interest C.I A P= −  
When the interest is compound half yearly,  

Amount: 
2

1
200

n
R

A P
 

= + 
 

 

 

When the interest is compound quarterly,  

Amount: 
4

1
400

n
R

A P
 

= + 
 

 

 

When the interest is compound annually and the rate of interest differs 
years by years,  

Amount: 31 21 1 1 ...
100 100 100

RR R
A P

   
= + + +   

   
 

1 2 3, ,R R R  are interest rates for I, II, III years respectively. 
 

P: Principal 
R: Rate of Interest 
A: Amount 
n: No. of years 
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1
100

nk
R

A P
k

 
= + 

 
 

If the interest is compound annually, then k=1 
If the interest is compound half yearly, then k = 2 
If the interest is compound quarterly, then k = 4 

If the interest is compounded annually but time of the form  
b

a
c

 years, then 

( )
1 1

100 100

a
R bR

A P
c

  
= + +       

 

 
mrypy; kl;Lk; tl;b fzf;fpl;L nrYj;jpdhy; mij jdptl;b vd;gh;. 
Mdhy; mrYf;Fk;> jpul;lg;gl;l tl;bapw;Fk; Nrh;j;J tl;b fzf;fpl;L 
nrYj;jpdhy; mij $l;L tl;b vd;W miog;gh;. 

 

Mz;LNjhWk; tl;b $l;lg;gl;lhy;. 

nkhj;jnjhif  1
100

n
R

A P
 

= + 
 

 

p:-  mry; 
R:-  tl;b tPjk; 
n:- tUlq;fspd; vz;zpf;if 
$l;L tl;b C.I  = A-P 
miuahz;LNjhWk; tl;b $l;lg;gl;lhy; 

nkhj;j njhif 
2

1
200

n
R

A P
 

= + 
 

  

fhyhz;L NjhWk; tl;b $l;lg;gl;lhy;  

nkhj;j njhif 
4

1
400

n
R

A P
 

= + 
 

 

Mz;LNjhWk; tl;b fzf;fplg;gLfpd;wJ Mdhy; tl;b tPjk; xt;nthU 
Mz;Lk; NtWgl;lhy;  
nkhj;j njhif 

31 21 1 1 ...
100 100 100

RR R
A P

   
= + + +   

   
 

1 2 3, ,R R R  vd;gJ I, II, III tUlq;fSf;fhd tl;b tPjq;fs; 

p:-  mry; 
R:-  tl;b tPjk; 
A:- nkhj;j njhif 

 

n:- tUlq;fspd; vz;zpf;if 

1
100

nk
R

A P
k

 
= + 

 
 

Mz;LNjhWk; tl;b $l;lg;gl;lhy;.K = 1  
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miuahz;LNjhWk; tl;b $l;lg;gl;lhy; K = 2 
fhyhz;L NjhWk; tl;b $l;lg;gl;lhy; K = 4  

Mz;LNjhWk; tl;b fzf;fplg;gLfpd;wJ Mdhy; tUlq;fs; 
b

a
c

 

tbtj;jpy; ,Uk;gpd; nkhj;j njhif 

( )
1 1

100 100

a
R bR

A P
c

  
= + +       

 

 

II. The compound interest formula is used in the following situations. 
 

i. To find the increase or decrease in population.  
ii. To find the growth of cells when the rate of growth is given 

iii. To find the depreciation in the Value of Machines, utility applicants 
etc., 

    gpd;tUk; #o;epiyfspy; $l;L tl;bapd; #j;jpuk; cgNahfpf;fg;gLfpd;wJ. 
i. kf;fs; njhif cah;T my;yJ Fiwit fz;lwpa  
ii. nry;fspd; tsh;r;rpia fz;lwpjy;> tsh;r;rp tPjk; nfhLf;fg;gLk; nghOJ  
iii. gad;ghl;L cgfuzq;fs; ,ae;jpuq;fs; Nghd;wtw;wpd; Nja;khdj;ij 

fz;lwpa  
 

1. Find the compound interest for the principal in Rs. 4000, rate of interest 
is 5% pa and the period is 2 years. when interest compound annually. 
&. 4000 vDk; mry; 5% Mz;L tl;bapy; 2 tUl fhyj;jpy; nfhLf;Fk; 
$l;L tl;bj;njhif fhz;f. Mz;LNjhWk; tl;b $l;Lk; nghOJ? 

 

2. Principal Rs 5000, R = 4% pa, n = 1 ½ years, interest compound half 
yearly. Compound interest? 
mry; &. 5000> R = 4% Mz;L tl;bapy;> n = 1 ½ tUlq;fs; miu 
Mz;LNjhWk; tl;b $l;lg;gLfpd;wJ. $l;L tl;b? 

 

3. Principal = Rs 10000, R = 8% pa, n = 2 ¾ years and interest compounded 
yearly, C.I.= ? 
mry; = &. Rs10000, R = 8%  Mz;L tl;bapy; n = 2 ¾ tUlq;fs;> 
Mz;LNjhWk; tl;b $l;Lk; nghOJ? C.I.=? 

 

4. Principal = Rs. 30000, R = 7% for year I, R = 8% for years II compounded 
annually, C.I =  ? 
mry; &.30>000 R = 7% I tUlj;jpy;, R = 8% II tUlj;jpy;> Mz;LNjhWk; 
tl;b $l;lg;gLfpd;wJ. C.I = ? 
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5. Find the C.I. on Rs. 12000 for 3 years at 10% pa compounded annually. 
&. 12>000> 10% Mz;L tl;bapy; 3 tUlj;jpy; Mz;LNjhWk; tl;b 
$l;lg;gl;lhy;> C.I. fhz;f: 
 

 

6. Vijay obtains a loan of Rs. 64000 against his fixed deposits. If the rate of 
interest be 2.5 paise per rupee per annum, Calculate the C.I. payable 
after 3 years. 
tp[a; jdJ epiyahd itg;G epjpapypUe;J &. 64>000 j;ij fldhf 
ngWfpd;whh;. tl;b tpfpjk; Xuhz;bw;F xU &gha;f;F 2.5 igrh> 3 tUlk; 
gpd;G nrYj;j Ntz;ba $l;L tl;bj;njhif fhz;f? 
 

 

7. Compute the C.I. on Rs. 12000 for 2 years at 20% pa when compounded 
half-yearly. 
&. 12>000> 20% Mz;L tl;bapy; 2 tUlj;jpy; nfhLf;Fk; $l;L 
tl;bj;njhif fzf;fpLf. miuahz;L NjhWk; tl;b $l;lg;gLk;nghOJ.  
 
 

8. Calculate the C.I. on Rs. 1000 at the rate of 10% pa for 18 months when 
interest is compounded half-yearly. 
&. 1000> 10% Mz;L tl;bapy; 18 khjj;jpy; nfhLf;Fk; $l;L 
tl;bj;njhif fzf;fpLf. miuahz;L NjhWk; tl;b $l;lg;gl;lhy;.  

 

9. Find the compound interest on Rs. 320000 for one year at the rate of 20% 
pa if the interest is compounded quarterly. 
&. 320000> 20% Mz;L tl;bapy; Xuhz;by; nfhLf;Fk; $l;L 
tl;bj;njhif fzf;fpLf. fhyhz;L NjhWk; tl;b $l;lg;gl;lhy;. 

 

10. Ramesh deposited Rs. 7500 in a bank which pays him 12% interest per 
annum compounded quarterly. What is the amount which he receives 
after 9 months? 
uNk~; tq;fpapy; &.7500 nlghrpl; nra;fpd;whh;.  tq;fp mtUf;F 12 
Mz;L tl;bapy; fhyhz;L NjhWk; tl;bia nfhLf;fpd;wJ. 9 khjk; gpd;G 
mth; ngw;w njhifia fhz;f? 

 

11. Find the C.I. on Rs. 24000 at 15% pa for 
1

2
3

years. 

&.24>000> 15 % Mz;L tl;bapy; 
1

2
3

 tUlq;fspy; nfhLf;Fk; 

$l;Ltl;bj;njhif fhz;f: 
 

12. In what time will Rs. 800 amount to Rs. 882 at 5% pa compounded 
annually? 
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vj;jid fhyj;jpy; &.800> &. 882 Mf caUk; 5% Mz;L tl;bapy; 
Mz;LNjhWk; tl;b $l;Lk;nghOJ? 

 

13. In what time will Rs. 64000 amount to Rs. 68921 at 5% pa, interest being 
compounded half-yearly? 
vj;jid fhyj;jpy; &.64>000 &. 68921 Mf caUk;> 5% Mz;L tl;bapy;> 
tl;b miuahz;L NjhWk; $l;lg;gLk;nghOJ? 

 
14. At what rate percent per annum, compound interest will Rs. 10000 

amount to Rs. 13310 in 3 years? 
ve;j Mz;L $l;L tl;b tPjj;jpy; 3 tUlq;fspy; &. 10>000> &. 13>310 
Mf caUk;? 

 

Formulae for population growth and an article depreciation 
 

i. If population grows, then 

Population after n years 1
100

n
R

P
 

= + 
 

 

ii. If population decreases, then 

Population after n years 1
100

n
R

P
 

= − 
 

 

iii. If population grows at the rate 
1R % on I year and 

2R  on second years, then  

population after 2 years 1 21 1
100 100

R R
P
  

= + +  
  

 

iv. If the value of an article is depreciate, then  

Value of the article at the end of n years: 0 1
100

n

n

R
V V

 
= − 

 
 

v. If the rate of depreciation is 
1R % for first 

1n  years, 
2R  for next 

2n  years and 

so on, then the value at end of ( )1 2 ...n n+ +  years 
1 2

1 2
0 1 1 ...

100 100

n n
R R

V V
   

= − −   
   

 

 

 
kf;fs; njhif tsh;r;rp kw;Wk; nghUl;fspd; Nja;khdk; fzf;fpLk; #j;jpuk;. 

i. kf;fs; njhif tsh;e;jhy;> n tUlq;fs; gpd;G kf;fs;njhif 1
100

n
R

P
 

= + 
 

  

ii. kf;fs; njhif Fiwe;jhy;;> n tUlq;fs; gpd;G kf;fs;njhif 1
100

n
R

P
 

= − 
 

 

iii. kf;fs; njhif I tUlj;jpy; R1% Kk; kw;Wk; II tUlj;jpy; R2%Kk;  

cah;e;jhy; 2 tUlq;fs; gpd;G kf;fs; njhif 1 21 1
100 100

R R
P
  

= + +  
  
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iv. nghUspd; kjpg;G Nja;khdk; mile;jhy;> n tUl ,Wjpapy; nghUspd; 

kjpg;G 
0 1

100

n

n

R
V V

 
= − 

 
 

v. Nja;khd tPjk; Kjy; 
1n tUlj;jpy; 1R %Kk;> mLj;j 

2n tUlj;jpy; 
2R  Kk; 

vd njhlh;fpd;wJ vdpy; ( )1 2 ...n n+ +  tUl ,Wjpapy; kjpg;G
1 2

1 2
0 1 1 ...

100 100

n n
R R

V V
   

= − −   
   

 

 

15. The population of a town is increasing at the rate of 5% pa. what will be 
the population of the town on this basis after two years, if the present 
population is 16000? 
xU efuj;jpd; kf;fs; njhif Mz;bw;F 5% cah;fpd;wJ. ,ijg;Nghy; 
,Ug;gpd; jw;NghJ kf;fs; njhif16000 vdpy; ,uz;L tUlq;fs; gpd;G 
kf;fs; njhif vd;d? 

 

16. The population of a village is 20000. if the annual birth rate is 4% and the 
annual death rate 2%, Calculate the population after 2 years. 
xU fpuhkj;jpd; kf;fs; njhif 20>000 Mz;L gpwg;G tpfpjk; 4% kw;Wk; 
Mz;L ,wg;G tpfpjk; 5% 2 tUlk; gpd;G cs;s kf;fs; njhifia 
fzf;fpLf? 
 

17. The population of a town was 160000 three years ago. If it had increased 
by 3%, 2.5% and 5% in the last three years, find the present population of 
the town. 
3 tUlk; Kd;G xU efuj;jpd; kf;fs; njhif 160000. 3 Mz;Lfspy; mJ 
3%> 2.5 % kw;Wk; 5% cah;e;jpUe;jhy;> jw;NghJ me;efuj;jpd; 
kf;fs;njhif fhz;f. 

 

18. The population of a town 2 years ago was 62500. Due to migration to 
cities, it decrease every year at the rate of 4% p.a. Find its present 
population. 
2 tUlk; Kd;G xU efuj;jpd; kf;fs; njhif 62500. efuq;fSf;F ,lk; 
ngah;tjpdhy; mJ xt;nthU Mz;Lk; Mz;Lf;F 4% Fiwfpd;wJ. mjd; 
jw;Nghija kf;fs; njhif fhz;f?  

 

19. In a factory the population of scooters raise to 48400 from 40000 in 2 yrs. 
Find the rate of growth p.a. 
xU njhopw;rhiyapy; ];$l;lh;fspd; vz;zpf;if 2 tUlq;fspy; 40000 
ypUe;J 48400 Mf cah;fpd;wJ. Mz;LNjhWk; mjd; tsh;r;rp rjtPjk; 
fhz;f? 
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20. The Bacteria is a culture grows by 10% in the first hour, decreases by  
10% the second hour and again increases by 10% in the third hour. If the 
original count of the bacteria in a sample is 10000, find the bacteria 
Count at the end of 3 hrs. 
xU khjphpapy; Ez;Zaph; Kjy; xU kzp Neuj;jpy; 10 % tsh;fpd;wJ.  
,uz;lhtJ kzp Neuj;jpy; 10 % Fiwfpd;wJ kw;Wk; kWgbAk; 
%d;whtJ kzp Neuj;jpy; 10 % cah;fpd;wJ> Kjypy; khjphpapy; 
Ez;Zaph;fspd; vz;zpf;if 10000 vdpy; %d;whtJ kzp Neu ,Wjpapy; 
Ez;Zaph;fspd; vz;zpf;if fhz;f: 

 
21. Kumar opened a textile with an initial investment of Rs 32000, In the first 

year, he incurred a loss of 5%. However, during the second year, he 

earned a profit of 10% which in the third year raised to 
1

12
2

% p.a. 

calculate his net profit for the entire period of 3 yrs.  
Fkhh; &. 32>000 KjyPL nra;J xU [Tspf;filia jpwf;fpd;whh;. Kjy; 
tUlj;jpy; mth; 5% el;lk; milfpd;whh; ,Ue;jhYk;> ,uz;lhk; tUlk; 

10% yhgk; ngWfpd;whh;. mJ %d;whtJ tUlk; Mz;Lf;F 
1

12
2
 % Mf 

cah;fpd;wJ. KO %d;W tUl fhyj;jpy; mthpd; epfu yhgk; fhz;f: 
 

22. The Value of a residential flat constructed at a cost of Rs 100000 is 
depreciating at the rate of 10% per annum. What will be its value 3 yrs 
after construction? 
&. 100000 kjpg;Gf; nfhz;l xU mLf;Fkhb FbapUg;G Mz;Lf;F 10 % 
Nja;khdk; milfpd;wJ. fl;lg;gl;L 3 tUlk; gpd;G mjd; kjpg;G fhz;f? 
 

23. The value of a property increases every year at the rate of  
5%. If its value at the end of 3 years be Rs 411540, what was its original 
value at the beginning of these years? 
xU nrhj;jpd; kjpg;G Mz;LNjhWk; 5% vDk; tPjj;jpy; cah;fpd;wJ. 3 
tUl ,Wjpapy; mjd; kjpg;G &. 411540 vdpy; tUlq;fspd; njhlf;fj;jpy; 
mjd; cz;ikahd kjpg;G fhz;f? 

 
Some special problems: 
 

24. Simple interest on a sum of money for 3 years at 
1

6
4

% p.a. is Rs 2400. 

What will be the C.I on that sum at the same rate for the same period? 
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xU njhif 3 tUlj;jpy; 
1

6
4

% Mz;L tl;bapy; nfhLj;j jdp 

tl;bj;njhif &. 2400 mNj fhyj;jpw;F mNj tl;b tpfpjj;jpy; 
mj;njhif jUk; $l;L tl;b fhz;f?  

 
25. The population of a town is increasing at the rate of 6% p.a. It was 

238765 in the year 2018. Find the population in the year 2016 and 2020. 
xU efuj;jpd; kf;fs; njhif Mz;LNjhWk; 6 % cah;fpd;wJ. mJ 2018 
y; 238765> 2016 kw;Wk; 2020 y; mjd; kf;fs; njhif fhz;f?   

 
26. The value of motor cycle 2 years ago was Rs 70000. It depreciates at the 

rate of 4% p.a. Find its present value. 
2 tUlk; Kd;G xU Nkhl;lhh; irf;fpspd; tpiy &. 70>000. mJ 
Mz;LNjhWk; 4% Nja;khdk; milfpd;wJ. mjd; jw;Nghija kjpg;G 
fhz;f: 

 
Differnce between S.I. and C.I. 
 

• There is no difference is S.I. and C.I. for the first conversion period. 

• For 2 years, the difference is S.I. and C.I. 
2

C.I. S.I.
100

R
P
 

− =  
 

 

• For 3 years, 
2

C.I. S.I. 3
100 100

R R
P
   

− = +   
   

 

• For 4 years 
2 2

C.I. S.I. 6
100 100 100

R AR R
P

    
− = + +    

     

 

 
S.I kw;Wk; C.I. ,ilNa cs;s tpj;jpahrk; 

• Kjy; khw;W fhyj;jpw;F jdptl;b $l;Ltl;b ,ilNa tpj;jpahrk; 
,y;iy. 

• 2 tUlq;fSf;F S.I kw;Wk; C.I. ,ilNa cs;s tpj;jpahrk; 
2

C.I. S.I.
100

R
P
 

− =  
 

 

• 3 tUlq;fSf;F S.I kw;Wk; C.I. ,ilNa cs;s tpj;jpahrk; 
2

C.I. S.I. 3
100 100

R R
P
   

− = +   
   

 

• 4 tUlq;fSf;F S.I kw;Wk; C.I. ,ilNa cs;s tpj;jpahrk;  
2 2

C.I. S.I. 6
100 100 100

R AR R
P

    
− = + +    

     
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27. Find the difference in C.I and S.I for P= Rs 5000, R=4% p.a. and n=2 yrs. 

P= &. 5000> R= Mz;LNjhWk; 4%; kw;Wk; n=2  tUlq;fs; C.I kw;Wk; S.I 
,ilNa cs;s tpj;jpahrk; fhz;f: 

 
28. Find the difference in C.I and S.I for P= Rs 8000, R=5% and n=3 yrs. 

P= &.8000> R= 5% Mz;LNjhWk; kw;Wk; n=3  tUlq;fs; C.I kw;Wk; S.I 
,ilNa cs;s tpj;jpahrk; fhz;f? 

 
29. Visal deposited Rs 200 per month for 5 yrs in a recurring deposit account 

in a post office. If he received Rs 13830, find the rate of interest.  
tp~hy; khjk;NjhWk; &.200 ia 5 tUlq;fSf;F mQ;ryfj;jpy; njhlh; 
itg;G epjp fzf;fpy; nrYj;Jfpd;whd; mtd; ngw;wJ &.13>830 vdpy; 
tl;b tPjk; fhz;f. 

 
30. X has given a total loan of Rs 21000 at 10% p.a. on C.I, he gives the first 

part to Y, second part to Z such that they amount to the same figure at 
the end of 2 and 3 yrs respectively. What is the second part amount? 
X nkhj;jk; &.21000-j;ij 10% Mz;L $l;L tl;bapy; fldha; toq;fpdhh;. 
mth; Kjy; gFjpia Y vd;gtUf;Fk; ,uz;lhk; gFjpia Z 
vd;gtUf;Fk; 2 tUlk; kw;Wk; 3 tUl fhyj;jpy; xNu njhifahf 
caUkhW nfhLf;fpd;whh;. ,uz;lhk; gFjp  njhifia fhz;f. 

 
31. The difference between the compound interest and the simple interest on 

a certain sum at 
1

7
2

% p.a. for 3 years is Rs 110.70. Find the sum. 

xU njhif 3 tUlj;jpy; 
1

7
2

%Mz;L tl;bapy; nfhLj;j $l;Ltl;b 

kw;Wk; jdptl;bj; njhiffspd; tpj;jpahrk; &. 110.70 mj;njhifia 
fhz;f: 

 
32. Find the ratio of C.I to S.I on a certain sum at R% for 2 yrs. 

xU Fwpg;gpl;l njhif R% j;jpy; 2 tUlq;fspy; nfhLf;Fk; C.I kw;Wk; 
S.I f;Fk; cs;s tpfpjk; fhz;f: 

 
33. The S.I on a certain sum at 4% p.a. for 2 yrs is Rs 25. Find the 

corresponding C.I. 
xU Fwpg;gpl;l njhif 2 tUlq;fspy; 4% Mz;L tl;bapy; nfhLj;j jdp 
tl;bj; njhif &. 25 mjw;fhd C.I. fhz;f. 


